

THE FEKETE–SZEGÖ FUNCTIONAL PROBLEMS FOR SOME SUBCLASSES OF m -FOLD SYMMETRIC BI-UNIVALENT FUNCTIONS

HUO TANG, H. M. SRIVASTAVA, S. SIVASUBRAMANIAN AND P. GURUSAMY

(Communicated by J. Pečarić)

Abstract. In this paper, we introduce several new subclasses of the class of m -fold symmetric *bi-univalent* functions and obtain estimates of the Taylor-Maclaurin coefficients $|a_{m+1}|$, $|a_{2m+1}|$ and Fekete-Szegő functional problems for functions in these new subclasses. The results presented in this paper improve the earlier results of Ali *et al.* [1], Frasin and Aouf [6], and Srivastava *et al.* [14] in terms of the bounds as well as the ranges of the parameter under consideration. Our results also further generalize the results of Peng *et al.* [19].

1. Introduction and definitions

Let \mathcal{A} denote the class of functions of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (z \in \mathbb{U}), \quad (1.1)$$

which are *analytic* in the open unit disk

$$\mathbb{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}.$$

Further, by \mathcal{S} we denote the class of all functions in \mathcal{A} which are univalent in \mathbb{U} . For more details on univalent functions, see (for example) [5]. It is well known that every function $f \in \mathcal{S}$ has an inverse f^{-1} defined by

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{U}) \quad (1.2)$$

and

$$f(f^{-1}(w)) = w \quad \left(|w| < r_0(f); r_0(f) \geq \frac{1}{4} \right). \quad (1.3)$$

Indeed, the inverse function may have an analytic continuation to \mathbb{U} , with

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3) w^3 - (5a_2^3 - 5a_2 a_3 + a_4) w^4 + \dots \quad (1.4)$$

Mathematics subject classification (2010): Primary 30C45, 33C50; Secondary 30C80.

Keywords and phrases: Analytic functions, Fekete-Szegő functional problems, Bi-univalent functions, Taylor-Maclaurin coefficients, m -fold symmetric functions, subordination.

A function $f \in \mathcal{A}$ is said to be *bi-univalent* in \mathbb{U} if both $f(z)$ and $f^{-1}(z)$ are univalent in \mathbb{U} . Let Σ denote the class of bi-univalent functions in \mathbb{U} , which are normalized by the equation (1.1).

An analytic function f is subordinate to another analytic function g , written $f(z) \prec g(z)$, provided that there is an analytic function w defined on \mathbb{U} with

$$w(0) = 0 \quad \text{and} \quad |w(z)| < 1$$

satisfying the following condition:

$$f(z) = g(w(z)).$$

Lewin [7] investigated the class Σ of bi-univalent functions and obtained a coefficient bound given by

$$|a_2| \leq 1.51.$$

Subsequently, motivated by the work of Lewin [7], Brannan and Clunie [3] conjectured that

$$|a_2| \leq \sqrt{2}.$$

Some examples of bi-univalent functions are given as follows (see also Srivastava *et al.* [14]):

$$\frac{z}{1-z}, \quad \frac{1}{2} \log \left(\frac{1+z}{1-z} \right) \quad \text{and} \quad -\log(1-z).$$

The coefficient estimate problem for each of the following Taylor-Maclaurin coefficients:

$$|a_n| \quad (n \in \mathbb{N}; n \geq 3)$$

is still open (see, for details, [14]). In fact, in recent years, the study of bi-univalent functions was revived by (and has gained momentum) due mainly to the pioneering work of Srivastava *et al.* [14]. Many researchers (see [6, 12, 13, 14, 16, 17, 18, 20]) recently investigated several interesting subclasses of the class Σ and found non-sharp estimates on the first two Taylor-Maclaurin coefficients $|a_2|$ and $|a_3|$. For each function f in \mathcal{S} , the function h given by

$$h(z) = \sqrt[m]{f(z^m)} \quad (m \in \mathbb{N})$$

is univalent and maps the unit disk \mathbb{U} into a region with m -fold symmetry. A function is said to be m -fold symmetric (see [9]; see also [15]) if it has the following normalized form:

$$f(z) = z + \sum_{k=1}^{\infty} a_{mk+1} z^{mk+1} \quad (m \in \mathbb{N}; z \in \mathbb{U}). \quad (1.5)$$

We denote the class of m -fold symmetric univalent functions by \mathcal{S}_m , which are normalized by the above series expansion (1.5). In fact, the functions in the class \mathcal{S} are one-fold symmetric (that is, $m = 1$). Analogous to the concept of m -fold symmetric univalent functions, one can think of the concept of m -fold symmetric bi-univalent

functions in a natural way. Each function f in the class Σ generates an m -fold symmetric bi-univalent function for each positive integer m . The normalized form of f is given as in (1.5) and f^{-1} is given as follows:

$$g(w) = w - a_{m+1}w^{m+1} + [(m+1)a_{m+1}^2 - a_{2m+1}]w^{2m+1} - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1} \right]w^{3m+1} + \dots, \tag{1.6}$$

where $f^{-1} = g$. We denote the class of m -fold symmetric bi-univalent functions by Σ_m . For $m = 1$, the formula (1.6) coincides with the formula (1.4) of the class Σ . Here, in this paper, we also denote by \mathcal{P} the class of analytic functions of the form:

$$p(z) = 1 + p_1z + p_2z^2 + \dots \quad (z \in \mathbb{U})$$

such that

$$\Re(p(z)) > 0 \quad (z \in \mathbb{U}).$$

In view of the work of Pommerenke [9], the m -fold symmetric function p in the class \mathcal{P} is of the form:

$$p(z) = 1 + c_mz^m + c_{2m}z^{2m} + c_{3m}z^{3m} + \dots \tag{1.7}$$

Throughout our present investigation, it is assumed that φ is an analytic function with positive real part in the unit disk \mathbb{U} such that

$$\varphi(0) = 1 \quad \text{and} \quad \varphi'(0) > 0$$

and $\varphi(\mathbb{U})$ is symmetric with respect to the real axis. Such a function has a series expansion of the form:

$$\varphi(z) = 1 + B_1z + B_2z^2 + B_3z^3 + \dots \quad (B_1 > 0). \tag{1.8}$$

Let $u(z)$ and $v(z)$ be two analytic functions in the unit disk \mathbb{U} with

$$u(0) = v(0) = 0 \quad \text{and} \quad \max\{|u(z)|, |v(z)|\} < 1.$$

We suppose also that

$$u(z) = b_mz^m + b_{2m}z^{2m} + b_{3m}z^{3m} + \dots \tag{1.9}$$

and

$$v(w) = c_mw^m + c_{2m}w^{2m} + c_{3m}w^{3m} + \dots \tag{1.10}$$

We observe that

$$|b_m| \leq 1, \quad |b_{2m}| \leq 1 - |b_m|^2, \quad |c_m| \leq 1 \quad \text{and} \quad |c_{2m}| \leq 1 - |c_m|^2. \tag{1.11}$$

By simple computations, we have

$$\varphi(u(z)) = 1 + B_1 b_m z^m + (B_1 b_{2m} + B_2 b_m^2) z^{2m} + \dots \quad (|z| < 1) \quad (1.12)$$

and

$$\varphi(v(w)) = 1 + B_1 c_m w^m + (B_1 c_{2m} + B_2 c_m^2) w^{2m} + \dots \quad (|w| < 1). \quad (1.13)$$

Motivated essentially by the work of Ma and Minda [8], we introduce here some new subclasses of m -fold symmetric bi-univalent functions and obtain bounds for the Taylor-Maclaurin coefficients $|a_{m+1}|$ and $|a_{2m+1}|$ and Fekete-Szegő functional problems for functions in these new classes. The results presented in this paper improve the earlier results of Ali *et al.* [1], Frasin and Aouf [6], and Srivastava *et al.* [14] in terms of the bounds as well as the ranges of the parameter under consideration and also further generalize the results of Peng *et al.* [19].

2. Coefficient bounds for the function class $\mathcal{H}_{\Sigma,m}(\varphi)$

DEFINITION 1. A function $f(z)$, given by (1.5), is said to be in the class $\mathcal{H}_{\Sigma,m}(\varphi)$, if the following conditions are satisfied:

$$f \in \Sigma_m, \quad f'(z) \prec \varphi(z) \quad \text{and} \quad g'(w) \prec \varphi(w) \quad (g(w) = f^{-1}(w)),$$

where the function $g(w)$ is defined by (1.6).

For various special choices of the function $\varphi(z)$ and for the case when $m = 1$, our function class $\mathcal{H}_{\Sigma,m}(\varphi)$ reduces to the following known function classes.

1. For $m = 1$, the function class given by

$$\mathcal{H}_{\Sigma,m}(\varphi) \equiv \mathcal{H}_{\Sigma,1}(\varphi) = \mathcal{H}_{\Sigma}(\varphi)$$

was studied by Ali *et al.* [1].

2. For $m = 1$ and

$$\varphi(z) = \left(\frac{1+z}{1-z} \right)^\gamma \quad (0 \leq \gamma < 1),$$

the function class given by

$$\mathcal{H}_{\Sigma,m}(\varphi) \equiv \mathcal{H}_{\Sigma,1} \left(\left(\frac{1+z}{1-z} \right)^\gamma \right)$$

was studied by Srivastava *et al.* [14].

3. For $m = 1$ and

$$\varphi(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} \quad (0 \leq \gamma < 1),$$

the function class given by

$$\mathcal{H}_{\Sigma,m}(\varphi) \equiv \mathcal{H}_{\Sigma,1} \left(\frac{1 + (1 - 2\gamma)z}{1 - z} \right)$$

was studied by Srivastava *et al.* [14].

We first state and prove the following theorem.

THEOREM 1. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,m}(\varphi)$. Then*

$$|a_{m+1}| \leq \frac{B_1 \sqrt{2B_1}}{\sqrt{(m+1) [2(m+1)B_1 + |(2m+1)B_1^2 - 2(1+m)B_2]|}} \tag{2.1}$$

and $|a_{2m+1}|$

$$\leq \begin{cases} \left(1 - \frac{2(m+1)}{(2m+1)B_1} \right) \frac{B_1^3}{[2(m+1)B_1 + |(2m+1)B_1^2 - 2(m+1)B_2]|} + \frac{B_1}{2m+1} & \left(B_1 \geq \frac{2(m+1)}{2m+1} \right) \\ \frac{B_1}{2m+1} & \left(B_1 < \frac{2(m+1)}{2m+1} \right). \end{cases} \tag{2.2}$$

Proof. Let $f \in \mathcal{H}_{\Sigma,m}(\varphi)$ and $g = f^{-1}$. Then there are analytic functions $u : \mathbb{U} \rightarrow \mathbb{U}$ and $v : \mathbb{U} \rightarrow \mathbb{U}$, with

$$u(0) = v(0) = 0,$$

satisfying the following conditions:

$$f'(z) = \varphi(u(z)) \quad \text{and} \quad g'(w) = \varphi(v(w)). \tag{2.3}$$

Since

$$f'(z) = 1 + (m+1)a_{m+1}z^m + (2m+1)a_{2m+1}z^{2m} + \dots$$

and

$$g'(w) = 1 - (m+1)a_{m+1}w^m + (2m+1)[(m+1)a_{m+1}^2 - a_{2m+1}]w^{2m} + \dots,$$

it follows from (1.12), (1.13) and (2.3) that

$$(m+1)a_{m+1} = B_1b_m, \tag{2.4}$$

$$(2m+1)a_{2m+1} = B_1b_{2m} + B_2b_m^2, \tag{2.5}$$

$$-(m+1)a_{m+1} = B_1c_m \tag{2.6}$$

and

$$(2m+1)[(m+1)a_{m+1}^2 - a_{2m+1}] = B_1c_{2m} + B_2c_m^2. \tag{2.7}$$

From (2.4) and (2.6), we get

$$c_m = -b_m. \tag{2.8}$$

By adding (2.5) and (2.7) and, upon some computations using (2.4) and (2.8), we get

$$(m + 1) [(2m + 1)B_1^2 - 2(1 + m)B_2] a_{m+1}^2 = B_1^3 (b_{2m} + c_{2m}). \tag{2.9}$$

Further, the equations (2.8) and (2.9), together with the equation (1.11), yield

$$|(m + 1) [(2m + 1)B_1^2 - 2(1 + m)B_2] a_{m+1}^2| \leq 2B_1^3 (1 - |b_m|^2). \tag{2.10}$$

Now, from (2.4) and (2.10), we get

$$|a_{m+1}| \leq \frac{B_1 \sqrt{2B_1}}{\sqrt{(m + 1) [2(m + 1)B_1 + |(2m + 1)B_1^2 - 2(1 + m)B_2]|}},$$

as asserted in (2.1).

By subtracting (2.7) from (2.5), we get

$$2(2m + 1)a_{2m+1} = (m + 1)(2m + 1)a_{m+1}^2 + B_1(b_{2m} - c_{2m}). \tag{2.11}$$

From (1.11), (2.4), (2.8) and (2.11), it follows that

$$\begin{aligned} |a_{2m+1}| &\leq \frac{(m + 1)}{2} |a_{m+1}|^2 + \frac{B_1}{2(2m + 1)} (|b_{2m}| + |c_{2m}|) \\ &\leq \frac{(m + 1)}{2} |a_{m+1}|^2 + \frac{B_1}{(2m + 1)} (1 - |b_m|^2) \\ &= \left(\frac{m + 1}{2} - \frac{(m + 1)^2}{(2m + 1)B_1} \right) |a_{m+1}|^2 + \frac{B_1}{2m + 1}, \end{aligned}$$

which implies the assertion (2.2). This completes the proof of Theorem 1. \square

REMARK 1. For the case of one-fold symmetric functions, Theorem 1 reduces to the corresponding results of Peng *et al.* [19], which we recall here as Corollary 1 below.

COROLLARY 1. (see [19]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_\Sigma(\varphi)$. Then*

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{4B_1 + |3B_1^2 - 4B_2|}} \tag{2.12}$$

and

$$|a_3| \leq \begin{cases} \left(1 - \frac{4}{3B_1}\right) \frac{B_1^3}{(4B_1 + |3B_1^2 - 4B_2|)} + \frac{B_1}{3} & (B_1 \geq \frac{4}{3}) \\ \frac{B_1}{3} & (B_1 < \frac{4}{3}). \end{cases} \tag{2.13}$$

For the case of one-fold symmetric functions and for the class of strongly starlike functions, the function φ is given by

$$\varphi(z) = \left(\frac{1+z}{1-z}\right)^\gamma = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \leq 1), \tag{2.14}$$

which gives

$$B_1 = 2\gamma \quad \text{and} \quad B_2 = 2\gamma^2.$$

Hence Theorem 1 gives the following corollary.

COROLLARY 2. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,1}\left(\left(\frac{1+z}{1-z}\right)^\gamma\right)$. Then*

$$|a_2| \leq \frac{\gamma\sqrt{2}}{\sqrt{2+\gamma}} \tag{2.15}$$

and

$$|a_3| \leq \begin{cases} \frac{8\gamma^2}{6+3\gamma} & \left(\frac{2}{3} \leq \gamma \leq 1\right) \\ \frac{2\gamma}{3} & \left(0 < \gamma < \frac{2}{3}\right). \end{cases} \tag{2.16}$$

REMARK 2. The estimate for $|a_3|$ asserted by Corollary 2 is more accurate than those given by Theorem 2 in Srivastava *et al.* [14].

Next, for the case of one-fold symmetric functions and for the class of starlike functions of order γ , the function φ is given by

$$\varphi(z) = 1 + 2(1-\gamma)z + 2(1-\gamma)^2 z^2 + \dots,$$

so that

$$B_1 = B_2 = 2(1-\gamma),$$

and Theorem 1 would lead us to the following corollary.

COROLLARY 3. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,1}\left(\frac{1+(1-2\gamma)z}{1-z}\right)$. Then*

$$|a_2| \leq \frac{\sqrt{2}(1-\gamma)}{\sqrt{2+|1-3\gamma|}} \tag{2.17}$$

and

$$|a_3| \leq \begin{cases} \frac{8-12\gamma}{9} & \left(0 \leq \gamma \leq \frac{1}{3}\right) \\ \frac{2(1-\gamma)}{3} & \left(\frac{1}{3} < \gamma < 1\right). \end{cases} \tag{2.18}$$

REMARK 3. The estimates for $|a_2|$ and $|a_3|$ asserted by Corollary 3 are more accurate than those given by Theorem 2 in Srivastava *et al.* [14].

REMARK 4. For the case of one-fold symmetric functions, the estimates for $|a_2|$ and $|a_3|$ given by the equations (2.1) and (2.2) are smaller than that given by Theorem 2.1 in Ali *et al.* [1].

THEOREM 2. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,m}(\varphi)$. Then

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m+1} & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2m+1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{2(2m+1)} \end{cases}, \tag{2.19}$$

where

$$h(\delta) = \frac{B_1^2 (m+1 - 2\delta)}{2(m+1) [(2m+1)B_1^2 - 2(1+m)B_2]}.$$

Proof. From the equations (2.9) and (2.11), we get

$$a_{m+1}^2 = \frac{B_1^3 (b_{2m} + c_{2m})}{(m+1) [(2m+1)B_1^2 - 2(1+m)B_2]} \tag{2.20}$$

and

$$a_{2m+1} = \frac{(m+1)}{2} a_{m+1}^2 + \frac{B_1 (b_{2m} - c_{2m})}{2(2m+1)}. \tag{2.21}$$

From the equations (2.20) and (2.21), it follows that

$$a_{2m+1} - \delta a_{m+1}^2 = B_1 \left[\left(h(\delta) + \frac{1}{2(2m+1)} \right) b_{2m} + \left(h(\delta) - \frac{1}{2(2m+1)} \right) c_{2m} \right],$$

where

$$h(\delta) = \frac{B_1^2 (m+1 - 2\delta)}{2(m+1) [(2m+1)B_1^2 - 2(1+m)B_2]}.$$

Since all B_i are real and $B_1 > 0$, which implies the assertion (2.19). This completes the proof of Theorem 2. \square

For the case of one-fold symmetric functions, Theorem 2 reduces to the following Corollary 4.

COROLLARY 4. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma}(\varphi)$. Then

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{B_1}{3} & \text{for } 0 \leq |h(\delta)| < \frac{1}{6} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{6} \end{cases}.$$

Taking $\delta = 1$ and $\delta = 0$ in Theorem 2, we have the following corollaries.

COROLLARY 5. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,m}(\varphi)$. Then

$$|a_{2m+1} - a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m+1} & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2m+1)} \\ 2B_1|h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{2(2m+1)} \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 5 reduces to the following corollary.

COROLLARY 6. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,1}(\varphi)$. Then

$$|a_3 - a_2^2| \leq \frac{B_1}{3}.$$

COROLLARY 7. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,m}(\varphi)$. Then

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{2m+1} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup \left(\frac{2m+1}{m+1}, \infty\right) \\ \frac{B_1^3}{(2m+1)B_1^2 - 2(1+m)B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(\frac{2m+1}{2(m+1)}, \frac{2m+1}{m+1}\right) \cup \left(0, \frac{2m+1}{2(m+1)}\right) \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 7 reduces to the following corollary.

COROLLARY 8. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{H}_{\Sigma,1}(\varphi)$. Then

$$|a_3| \leq \begin{cases} \frac{B_1}{3} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup \left(\frac{3}{2}, \infty\right) \\ \frac{B_1^3}{3B_1^2 - 4B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(\frac{3}{4}, \frac{3}{2}\right) \cup \left(0, \frac{3}{4}\right) \end{cases}.$$

3. Coefficient bounds for the function class $\mathcal{A}_{\Sigma,m}(\lambda, \varphi)$

DEFINITION 2. A function $f(z)$, given by (1.5), is said to be in the class $\mathcal{A}_{\Sigma,m}(\lambda, \varphi)$ if the following conditions are satisfied:

$$f \in \Sigma_m, \quad \frac{zf'(z)}{f(z)} + \frac{\lambda z^2 f''(z)}{f(z)} \prec \varphi(z)$$

and

$$\frac{wg'(w)}{g(w)} + \frac{\lambda w^2 g''(w)}{g(w)} \prec \varphi(w) \quad (g(w) = f^{-1}(w)),$$

where the function $g(w)$ is defined by (1.6).

For various special choices of the function $\varphi(z)$, and for the case when $m = 1$ and $\lambda = 0$, the above-defined class $\mathcal{A}_{\Sigma,m}(\lambda, \varphi)$ reduces to the following function classes.

1. For $m = 1$, the class given by

$$\mathcal{A}_{\Sigma,m}(\lambda, \varphi) \equiv \mathcal{A}_{\Sigma,1}(\lambda, \varphi)$$

was studied by Ali *et al.* [1].

2. For $m = 1$, $\lambda = 0$ and

$$\varphi(z) = \left(\frac{1+z}{1-z}\right)^\gamma \quad (0 \leq \gamma < 1),$$

the class given by

$$\mathcal{A}_{\Sigma,m}\left(0, \left(\frac{1+z}{1-z}\right)^\gamma\right) \equiv \mathcal{S}\mathcal{T}_{\Sigma}^*(\gamma)$$

coincides with the class of bi-strongly starlike functions of order γ , which was studied by Brannan and Taha [4].

3. For $m = 1$, $\lambda = 0$ and

$$\varphi(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} \quad (0 \leq \gamma < 1),$$

the class given by

$$\mathcal{A}_{\Sigma,m}\left(0, \frac{1 + (1 - 2\gamma)z}{1 - z}\right) \equiv \mathcal{S}_{\Sigma}^*(\gamma)$$

coincides with the class of bi-starlike functions of order γ , which was also studied by Brannan and Taha [4].

For functions belonging to the class $\mathcal{A}_{\Sigma,m}(\lambda, \varphi)$, we prove the following theorem.

THEOREM 3. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{A}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{m+1}| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{|(1 + 2\lambda + 2\lambda m)B_1^2 - [1 + \lambda(m + 1)]^2 B_2| + [1 + \lambda(m + 1)]^2 B_1}} \quad (3.1)$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{(m+1)B_1}{2m^2(1+2\lambda+2\lambda m)} & (|B_2| \leq B_1) \\ \frac{(m+1)| (1+2\lambda+2\lambda m)B_1^2 - [1+\lambda(m+1)]^2 B_2 | B_1 + (m+1)[1+\lambda(m+1)]^2 |B_2| B_1}{2m^2(1+2\lambda+2\lambda m)(| (1+2\lambda+2\lambda m)B_1^2 - [1+\lambda(m+1)]^2 B_2 | + [1+\lambda(m+1)]^2 B_1)} & (|B_2| > B_1). \end{cases} \quad (3.2)$$

Proof. Let $f \in \mathcal{A}_{\Sigma, m}(\lambda, \varphi)$. Then there are analytic functions $u : \mathbb{U} \rightarrow \mathbb{U}$ and $v : \mathbb{U} \rightarrow \mathbb{U}$, with

$$u(0) = v(0) = 0,$$

satisfying the following conditions:

$$\frac{zf'(z)}{f(z)} + \frac{\lambda z^2 f''(z)}{f(z)} = \varphi(u(z)) \tag{3.3}$$

and

$$\frac{wg'(w)}{g(w)} + \frac{\lambda w^2 g''(w)}{g(w)} = \varphi(v(w)) \quad (g(w) = f^{-1}(w)). \tag{3.4}$$

Since

$$\begin{aligned} \frac{zf'(z)}{f(z)} + \frac{\lambda z^2 f''(z)}{f(z)} &= 1 + m[1 + \lambda(m+1)]a_{m+1}z^m \\ &+ (2m[1 + \lambda(2m+1)]a_{2m+1} - m[1 + \lambda(m+1)]a_{m+1}^2)z^{2m} + \dots \end{aligned}$$

and

$$\begin{aligned} \frac{wg'(w)}{g(w)} + \frac{\lambda w^2 g''(w)}{g(w)} &= 1 - m[1 + \lambda(m+1)]a_{m+1}w^m \\ &+ \left([m(2m+1) + \lambda m(m+1)(4m+1)]a_{m+1}^2 - 2m[1 + \lambda(2m+1)]a_{2m+1} \right) w^{2m} + \dots, \end{aligned}$$

from (1.12), (1.13), (3.3) and (3.4), we find that

$$m[1 + \lambda(m+1)]a_{m+1} = B_1 b_m, \tag{3.5}$$

$$2m[1 + \lambda(2m+1)]a_{2m+1} - m[1 + \lambda(m+1)]a_{m+1}^2 = B_1 b_{2m} + B_2 b_m^2, \tag{3.6}$$

$$-m[1 + \lambda(m+1)]a_{m+1} = B_1 c_m \tag{3.7}$$

and

$$\begin{aligned} [m(2m+1) + \lambda m(m+1)(4m+1)]a_{m+1}^2 - 2m[1 + \lambda(2m+1)]a_{2m+1} \\ = B_1 c_{2m} + B_2 c_m^2. \end{aligned} \tag{3.8}$$

From (3.5) and (3.7), we get

$$c_m = -b_m. \tag{3.9}$$

By adding the equations (3.6) and (3.8) and, upon some computations using (3.5) and (3.9), we obtain

$$2m^2 \left[(1 + 2\lambda + 2\lambda m)B_1^2 - (1 + \lambda(m+1))^2 B_2 \right] a_{m+1}^2 = B_1^3 (b_{2m} + c_{2m}). \tag{3.10}$$

Further, the equations (3.9), (3.10), together with the equation (1.11), yield

$$\left| m^2 \left((1 + 2\lambda + 2\lambda m)B_1^2 - [1 + \lambda(m+1)]^2 B_2 \right) a_{m+1}^2 \right| = B_1^3 \left(1 - |b_m|^2 \right). \tag{3.11}$$

Now, from the equations (3.5) and (3.11), we get

$$|a_{m+1}| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{|(1 + 2\lambda + 2\lambda m)B_1^2 - [1 + \lambda(m + 1)]^2 B_2| + [1 + \lambda(m + 1)]^2 B_1}}.$$

as asserted in (3.1).

By simple calculations from (3.6) and (3.8), and using the equations (3.5) and (3.9), we find that

$$\begin{aligned} &4m^2 [1 + \lambda(2m + 1)](1 + 2\lambda + 2\lambda m)a_{2m+1} \\ &= [2m + 1 + \lambda(m + 1)(4m + 1)]B_1 b_{2m} \\ &\quad + (1 + \lambda(m + 1))B_1 c_{2m} + 2(1 + \lambda + m + 3\lambda m + 2\lambda m^2)B_2 b_m^2. \end{aligned} \tag{3.12}$$

Thus, by using the equation (1.11) in (3.12), we get

$$\begin{aligned} &2m^2 [1 + \lambda(2m + 1)](1 + 2\lambda + 2\lambda m)|a_{2m+1}| \\ &\leq [1 + \lambda + m + 3\lambda m + 2\lambda m^2]B_1 - (1 + \lambda + m + 3\lambda m + 2\lambda m^2)B_1|b_m|^2 \\ &\quad + [1 + \lambda + m + 3\lambda m + 2\lambda m^2]|B_2||b_m|^2. \end{aligned} \tag{3.13}$$

Since

$$|b_m|^2 \leq \frac{[1 + \lambda(m + 1)]^2 B_1}{|(1 + 2\lambda + 2\lambda m)B_1^2 - [1 + \lambda(m + 1)]^2 B_2| + [1 + \lambda(m + 1)]^2 B_1}, \tag{3.14}$$

upon substituting from (3.14) into (3.13), we are led easily to the assertion (3.2) of Theorem 3. This evidently completes the demonstration of Theorem 3. \square

For the case of one-fold symmetric functions, Theorem 3 reduces to the results of Peng *et al.* [19].

COROLLARY 9. (see [19]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{|(1 + 4\lambda)B_1^2 - (1 + 2\lambda)^2 B_2| + (1 + 2\lambda)^2 B_1}}$$

and

$$|a_3| \leq \begin{cases} \frac{B_1}{1 + 4\lambda} & (|B_2| \leq B_1) \\ \frac{|(1 + 4\lambda)B_1^2 - (1 + 2\lambda)^2 B_2| B_1 + (1 + 2\lambda)^2 |B_2| B_1}{(1 + 4\lambda)(|(1 + 4\lambda)B_1^2 - (1 + 2\lambda)^2 B_2| + (1 + 2\lambda)^2 B_1)} & (|B_2| > B_1). \end{cases}$$

For the case of one-fold symmetric functions with $\lambda = 0$ and for the class of strongly starlike functions, the function φ is given by

$$\varphi(z) = \left(\frac{1+z}{1-z}\right)^\gamma = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \leq 1) \tag{3.15}$$

which gives

$$B_1 = 2\gamma \quad \text{and} \quad B_2 = 2\gamma^2.$$

Hence Theorem 3 reduces to the following result.

COROLLARY 10. (see [4]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{S}_{\Sigma}^*(\gamma)$. Then*

$$|a_2| \leq \frac{\gamma}{\sqrt{1+\gamma}} \tag{3.16}$$

and

$$|a_3| \leq 2\gamma. \tag{3.17}$$

REMARK 5. The estimate for $|a_3|$ given by Corollary 10 is more accurate than the bound given by Theorem 2.1 in Brannan and Taha [4].

For the case of one-fold symmetric functions with $\lambda = 0$ and for the class of bi-starlike functions, the function φ is given by

$$\varphi(z) = 1 + 2(1-\gamma)z + 2(1-\gamma)^2 z^2 + \dots,$$

so that

$$B_1 = B_2 = 2(1-\gamma).$$

Thus, clearly, Theorem 3 yields the following result.

COROLLARY 11. (see [4]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{S}_{\Sigma}^*(\gamma)$. Then*

$$|a_2| \leq \frac{2(1-\gamma)}{\sqrt{1+|1-2\gamma|}} \tag{3.18}$$

and

$$|a_3| \leq 2(1-\gamma). \tag{3.19}$$

REMARK 6. The estimate for $|a_2|$ given by Corollary 11 is more accurate than the bound given by Theorem 3.1 in Brannan and Taha [4].

REMARK 7. For the case of one-fold symmetric functions, the estimates for $|a_2|$ and $|a_3|$ given by the equations (3.1) and (3.2) are smaller than those given by Theorem 3.1 in Ali *et al.* [1].

THEOREM 4. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m(2\lambda m + \lambda + 1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m(2\lambda m + \lambda + 1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4m(2\lambda m + \lambda + 1)} \end{cases}, \quad (3.20)$$

where

$$h(\delta) = \frac{B_1^2(m+1-2\delta)}{4m^2 \left[(2\lambda m + 2\lambda + 1)B_1^2 - (\lambda m + \lambda + 1)^2 B_2 \right]}.$$

Proof. From the equation (3.10), we get

$$a_{m+1}^2 = \frac{B_1^3(b_{2m} + c_{2m})}{2m^2 \left[(2\lambda m + 2\lambda + 1)B_1^2 - (\lambda m + \lambda + 1)^2 B_2 \right]}. \quad (3.21)$$

Subtract (3.6) from the (3.8), we get

$$a_{2m+1} = \frac{(m+1)}{2} a_{m+1}^2 + \frac{B_1(b_{2m} - c_{2m})}{4m(2\lambda m + \lambda + 1)}. \quad (3.22)$$

From the equations (3.21) and (3.22), it follows that

$$a_{2m+1} - \delta a_{m+1}^2 = B_1 \left[\left(h(\delta) + \frac{1}{4m(2\lambda m + \lambda + 1)} \right) b_{2m} + \left(h(\delta) - \frac{1}{4m(2\lambda m + \lambda + 1)} \right) c_{2m} \right].$$

where

$$h(\delta) = \frac{B_1^2(m+1-2\delta)}{4m^2 \left[(2\lambda m + 2\lambda + 1)B_1^2 - (\lambda m + \lambda + 1)^2 B_2 \right]}.$$

Since all B_i are real and $B_1 > 0$, which implies the assertion (3.20). This completes the proof of Theorem 4. \square

For the case of one-fold symmetric functions, Theorem 4 reduces to the following Corollary 12.

COROLLARY 12. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{B_1}{2(3\lambda+1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4(3\lambda+1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4(3\lambda+1)} \end{cases}.$$

Taking $\delta = 1$ and $\delta = 0$ in Theorem 4, we have the following corollaries.

COROLLARY 13. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1} - a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m(2\lambda m + \lambda + 1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m(2\lambda m + \lambda + 1)} \\ 2B_1|h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4m(2\lambda m + \lambda + 1)} \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 13 reduces to the following corollary.

COROLLARY 14. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - a_2^2| \leq \frac{B_1}{2(3\lambda + 1)}.$$

COROLLARY 15. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}'_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{2m(2\lambda m + \lambda + 1)} & \text{for } \frac{B_2}{B_1^2} \in \left(-\infty, -\frac{1}{m(\lambda m + \lambda + 1)}\right) \cup (\sigma_1, \infty) \\ \frac{(m+1)B_1^3}{2m^2[(2\lambda m + 2\lambda + 1)B_1^2 - (\lambda m + \lambda + 1)^2 B_2]} & \text{for } \frac{B_2}{B_1^2} \in \left(-\frac{1}{m(\lambda m + \lambda + 1)}, \sigma_2\right) \cup (\sigma_2, \sigma_1) \end{cases}.$$

where

$$\sigma_1 = \frac{4\lambda m^2 + 5\lambda m + 2m + \lambda + 1}{m(\lambda m + \lambda + 1)^2}$$

and

$$\sigma_2 = \frac{(2\lambda m + 2\lambda + 1)}{(\lambda m + \lambda + 1)^2}.$$

For the case of one-fold symmetric functions, Corollary 15 reduces to the following corollary.

COROLLARY 16. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{N}'_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3| \leq \begin{cases} \frac{B_1}{2(3\lambda + 1)} & \text{for } \frac{B_2}{B_1^2} \in \left(-\infty, -\frac{1}{1+2\lambda}\right) \cup \left(\frac{10\lambda+3}{(1+2\lambda)^2}, \infty\right) \\ \frac{B_1^3}{(4\lambda+1)B_1^2 - (1+2\lambda)^2 B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(-\frac{1}{1+2\lambda}, \frac{4\lambda+1}{(1+2\lambda)^2}\right) \cup \left(\frac{4\lambda+1}{(1+2\lambda)^2}, \frac{10\lambda+3}{(1+2\lambda)^2}\right) \end{cases}.$$

For the case of one-fold symmetric functions and $\lambda = 0$, Corollary 16 reduces to the following corollary.

COROLLARY 17. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{A}_{\Sigma,1}(0, \varphi)$.

Then

$$|a_3| \leq \begin{cases} \frac{B_1}{2} & \text{for } \frac{B_2}{B_1} \in (-\infty, -1) \cup (3, \infty) \\ \frac{B_1^3}{B_1^3 - B_2} & \text{for } \frac{B_2}{B_1} \in (-1, 1) \cup (1, 3) \end{cases}.$$

4. Coefficient bounds for the function class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$

DEFINITION 3. A function $f(z)$, given by (1.5), is said to be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$ if the following conditions are satisfied:

$$f \in \Sigma_m, \quad (1 - \lambda) \frac{zf'(z)}{f(z)} + \lambda \left(1 + \frac{zf''(z)}{f'(z)} \right) \prec \varphi(z)$$

and

$$(1 - \lambda) \frac{wg'(w)}{g(w)} + \lambda \left(1 + \frac{wg''(w)}{g'(w)} \right) \prec \varphi(w) \quad (g(w) = f^{-1}(w)),$$

where the function $g(w)$ is defined by (1.6).

Following the case of one-fold symmetric functions, a function in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$ is called bi-Mocanu-convex function of Ma-Minda type that essentially unifies the classes $\mathcal{L}_{\Sigma}^*(\varphi)$ and $\mathcal{C}_{\Sigma}(\varphi)$ studied by Ali *et al.* [1] for the case of bi-univalent functions.

For various special choices of the function $\varphi(z)$ and the parameter λ , and for the case when $m = 1$, the above-defined class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$ reduces to the following function classes.

1. For $m = 1$, the function class given by

$$\mathcal{M}_{\Sigma,m}(\lambda, \varphi) \equiv \mathcal{M}_{\Sigma,1}(\lambda, \varphi) = \mathcal{M}_{\Sigma}(\varphi)$$

was studied by Ali *et al.* [1].

2. For $m = 1$, $\lambda = 1$ and

$$\varphi(z) = \left(\frac{1+z}{1-z} \right)^{\gamma} \quad (0 < \gamma \leq 1),$$

the function class given by

$$\mathcal{M}_{\Sigma,1} \left(1, \left(\frac{1+z}{1-z} \right)^{\gamma} \right) \equiv \mathcal{L}\mathcal{T}_{\Sigma}^*(\gamma)$$

coincides with the class of strongly bi-starlike functions of order γ , which was studied by Brannan and Taha [4].

3. For $m = 1$, $\lambda = 0$ and

$$\varphi(z) = \left(\frac{1+z}{1-z}\right)^\gamma \quad (0 < \gamma \leq 1),$$

the function class given by

$$\mathcal{M}_{\Sigma,1} \left(1, \left(\frac{1+z}{1-z}\right)^\gamma\right) \equiv \mathcal{C}\mathcal{V}_\Sigma(\gamma) \quad (0 < \gamma \leq 1)$$

coincides with the class of strongly bi-convex functions of order γ , which was studied by Brannan and Taha [4].

4. For $m = 1$, $\lambda = 1$ and

$$\varphi(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} \quad (0 \leq \gamma < 1),$$

the function class given by

$$\mathcal{M}_{\Sigma,1} \left(1, \frac{1 + (1 - 2\gamma)z}{1 - z}\right) \equiv \mathcal{C}_\Sigma(\gamma) \quad (0 \leq \gamma < 1)$$

coincides with the class of bi-convex functions of order γ , which was studied by Brannan and Taha [4].

5. For $m = 1$, $\lambda = 0$ and

$$\varphi(z) = \frac{1 + (1 - 2\alpha)z}{1 - z} \quad (0 \leq \alpha < 1),$$

the function class given by

$$\mathcal{M}_{\Sigma,1} \left(1, \frac{1 + (1 - 2\alpha)z}{1 - z}\right) \equiv \mathcal{S}_\Sigma^*(\alpha) \quad (0 \leq \alpha < 1)$$

coincides with the class of bi-starlike functions of order α , which was studied by Brannan and Taha [4].

THEOREM 5. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{m+1}| \leq \frac{B_1 \sqrt{B_1}}{m \sqrt{(1 + \lambda m) |B_1^2 - (1 + \lambda m) B_2|} + (1 + \lambda m)^2 B_1} \tag{4.1}$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{(1+m)B_1}{2m^2(1+\lambda m)} & (|B_2| \leq B_1) \\ \frac{(1+m)|B_1^2 - (1+\lambda m)B_2| B_1 + (1+m)(1+\lambda m)|B_2| B_1}{2m^2(1+\lambda m)(|B_1^2 - (1+\lambda m)B_2| + (1+\lambda m)^2 B_1)} & (|B_2| > B_1). \end{cases} \tag{4.2}$$

Proof. Let $f \in \mathcal{M}_{\Sigma,m}(\lambda, \varphi)$. Then there are analytic functions $u : \mathbb{U} \rightarrow \mathbb{U}$ and $v : \mathbb{U} \rightarrow \mathbb{U}$, with

$$u(0) = v(0) = 0$$

satisfying the following conditions:

$$(1 - \lambda) \frac{zf'(z)}{f(z)} + \lambda \left(1 + \frac{zf''(z)}{f'(z)} \right) = \varphi(u(z)) \tag{4.3}$$

and

$$(1 - \lambda) \frac{wg'(w)}{g(w)} + \lambda \left(1 + \frac{wg''(w)}{g'(w)} \right) = \varphi(v(w)). \tag{4.4}$$

Since

$$\begin{aligned} (1 - \lambda) \frac{zf'(z)}{f(z)} + \lambda \left(1 + \frac{zf''(z)}{f'(z)} \right) &= 1 + m(1 + \lambda m) a_{m+1} z^m \\ &+ [2m(1 + 2\lambda m) a_{2m+1} - m(1 + 2\lambda m + \lambda m^2) a_{m+1}^2] z^{2m} + \dots \end{aligned}$$

and

$$\begin{aligned} (1 - \lambda) \frac{wg'(w)}{g(w)} + \lambda \left(1 + \frac{wg''(w)}{g'(w)} \right) &= 1 - m(1 + \lambda m) a_{m+1} w^m \\ &+ [m(1 + 2\lambda m + 2m + 3\lambda m^2) a_{m+1}^2 - 2m(1 + 2\lambda m) a_{2m+1}] w^{2m} + \dots, \end{aligned}$$

from (1.12), (1.13), (4.3) and (4.4), we find that

$$m(1 + \lambda m) a_{m+1} = B_1 b_m, \tag{4.5}$$

$$2m(1 + 2\lambda m) a_{2m+1} - m(1 + 2\lambda m + \lambda m^2) a_{m+1}^2 = B_1 b_{2m} + B_2 b_m^2, \tag{4.6}$$

$$-m(1 + \lambda m) a_{m+1} = B_1 c_m \tag{4.7}$$

and

$$m(1 + 2\lambda m + 2m + 3\lambda m^2) a_{m+1}^2 - 2m(1 + 2\lambda m) a_{2m+1} = B_1 c_{2m} + B_2 c_m^2. \tag{4.8}$$

Equations (4.5) and (4.7) now yield

$$c_m = -b_m. \tag{4.9}$$

By adding the equations (4.6) and (4.8), and after some computations using (4.5) and (4.9), we get

$$2m^2(1 + \lambda m) (B_1^2 - (1 + \lambda m) B_2) a_{m+1}^2 = B_1^3 (b_{2m} + c_{2m}). \tag{4.10}$$

Further, from the equations (4.9) and (4.10), together with (1.11), we have

$$|m^2(1 + \lambda m) (B_1^2 - (1 + \lambda m) B_2) a_{m+1}^2| \leq B_1^3 (1 - |b_m|^2). \tag{4.11}$$

Now, from (4.5) and (4.11), we get

$$|a_{m+1}| \leq \frac{B_1 \sqrt{B_1}}{m \sqrt{(1 + \lambda m) |B_1^2 - (1 + \lambda m) B_2| + (1 + \lambda m)^2 B_1}}$$

as asserted in (4.1).

By simple calculations using (4.6) and (4.8), together with the equations (4.5) and (4.9), we obtain

$$4m^2 (1 + 2\lambda m) (1 + \lambda m) a_{2m+1} = (1 + 2m + 2\lambda m + 3\lambda m^2) B_1 b_{2m} + (1 + 2\lambda m + \lambda m^2) B_1 c_{2m} + 2(m + 1) (1 + 2\lambda m) B_2 b m^2. \tag{4.12}$$

Thus, by using the equation (1.11) in (4.12), we get

$$|a_{2m+1}| \leq \frac{(1 + m) B_1}{2m^2 (1 + \lambda m)} + \frac{(1 + m) (|B_2| - B_1) |b_m|^2}{2m^2 (1 + \lambda m)}. \tag{4.13}$$

Since

$$|b_m|^2 \leq \frac{m^2 (1 + \lambda m)^2 B_1}{m^2 (1 + \lambda m) (|B_1^2 - (1 + \lambda m) B_2| + (1 + \lambda m)^2 B_1)}, \tag{4.14}$$

upon substituting from (4.14) into (4.13), we are led fairly easily to the assertion (4.2) of Theorem 5. Our demonstration of Theorem 5 is thus completed. \square

REMARK 8. For the case of one-fold symmetric functions, Theorem 5 reduces to the following known results due to Peng *et al.* [19].

COROLLARY 18. (see [19]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{(1 + \lambda) |B_1^2 - (1 + \lambda) B_2| + (1 + \lambda)^2 B_1}}$$

and

$$|a_3| \leq \begin{cases} \frac{B_1}{1 + \lambda} & (|B_2| \leq B_1) \\ \frac{|B_1^2 - (1 + \lambda) B_2| B_1 + (1 + \lambda) |B_2| B_1}{(1 + \lambda) (|B_1^2 - (1 + \lambda) B_2| + (1 + \lambda) B_1)} & (|B_2| > B_1). \end{cases}$$

REMARK 9. For the case of one-fold symmetric functions, the estimates for $|a_2|$ and $|a_3|$ given by the equations (4.1) and (4.2) are smaller than those given by Theorem 2.3 in Ali *et al.* [1].

THEOREM 6. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m(2\lambda m+1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m(2\lambda m+1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4m(2\lambda m+1)} \end{cases}, \tag{4.15}$$

where

$$h(\delta) = \frac{B_1^2(m+1-2\delta)}{4m^2[(\lambda m+1)B_1^2 - (\lambda m+1)^2B_2]}.$$

Proof. From the equation (4.10), we get

$$a_{m+1}^2 = \frac{B_1^3(b_{2m} + c_{2m})}{2m^2[(\lambda m+1)B_1^2 - (\lambda m+1)^2B_2]}.\tag{4.16}$$

Subtract (3.6) from the (3.8), we get

$$a_{2m+1} = \frac{(m+1)}{2}a_{m+1}^2 + \frac{B_1(b_{2m} - c_{2m})}{4m(2\lambda m+1)}.\tag{4.17}$$

From the equations (4.16) and (4.17), it follows that

$$a_{2m+1} - \delta a_{m+1}^2 = B_1 \left[\left(h(\delta) + \frac{1}{4m(2\lambda m+1)} \right) b_{2m} + \left(h(\delta) - \frac{1}{4m(2\lambda m+1)} \right) c_{2m} \right].$$

where

$$h(\delta) = \frac{B_1^2(m+1-2\delta)}{4m^2[(\lambda m+1)B_1^2 - (\lambda m+1)^2B_2]}.$$

Since all B_i are real and $B_1 > 0$, which implies the assertion (4.15). This completes the proof of Theorem 6. \square

For the case of one-fold symmetric functions, Theorem 6 reduces to the following corollary.

COROLLARY 19. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{B_1}{2(2\lambda+1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4(2\lambda+1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4(2\lambda+1)} \end{cases}.$$

Taking $\delta = 1$ and $\delta = 0$ in Theorem 6, we have the following corollaries.

COROLLARY 20. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1} - a_{m+1}^2| \leq \begin{cases} \frac{B_1}{2m(2\lambda m+1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{4m(2\lambda m+1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{4m(2\lambda m+1)} \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 20 reduces to the following corollary.

COROLLARY 21. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - a_2^2| \leq \frac{B_1}{2(2\lambda + 1)}.$$

COROLLARY 22. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,m}(\lambda, \varphi)$. Also let $\lambda \geq 0$. Then*

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{2m(2\lambda m+1)} & \text{for } \frac{B_2}{B_1^2} \in \left(-\infty, -\frac{m(2\lambda m+\lambda+1)}{(\lambda m+1)^2}\right) \cup \left(\frac{2\lambda m^2+3\lambda m+m+2}{(\lambda m+1)^2}, \infty\right) \\ \frac{(m+1)B_1^3}{2m^2[(\lambda m+1)B_1^2-(\lambda m+1)^2B_2]} & \text{for } \frac{B_2}{B_1^2} \in \left(-\frac{m(2\lambda m+\lambda+1)}{(\lambda m+1)^2}, \frac{1}{(\lambda m+1)}\right) \cup \left(\frac{1}{(\lambda m+1)}, \frac{2\lambda m^2+3\lambda m+m+2}{(\lambda m+1)^2}\right) \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 22 reduces to the following corollary.

COROLLARY 23. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3| \leq \begin{cases} \frac{B_1}{2(2\lambda+1)} & \text{for } \frac{B_2}{B_1^2} \in \left(-\infty, -\frac{(1+3\lambda)}{(1+\lambda)^2}\right) \cup \left(\frac{5\lambda+3}{(1+\lambda)^2}, \infty\right) \\ \frac{B_1^3}{(\lambda+1)B_1^2-(1+\lambda)^2B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(-\frac{(1+3\lambda)}{(1+\lambda)^2}, \frac{1}{1+\lambda}\right) \cup \left(\frac{1}{1+\lambda}, \frac{5\lambda+3}{(1+\lambda)^2}\right) \end{cases}.$$

For the case of one-fold symmetric functions and $\lambda = 0$, Corollary 23 reduces to the following corollary.

COROLLARY 24. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(0, \varphi)$. Then*

$$|a_3| \leq \begin{cases} \frac{B_1}{2} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, -1) \cup (3, \infty) \\ \frac{B_1^3}{B_1^2-B_2} & \text{for } \frac{B_2}{B_1^2} \in (-1, 1) \cup (1, 3) \end{cases}.$$

For the case of one-fold symmetric functions and $\lambda = 1$, Corollary 23 reduces to the following corollary.

COROLLARY 25. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{M}_{\Sigma,1}(1, \varphi)$. Then*

$$|a_3| \leq \begin{cases} \frac{B_1}{6} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, -1) \cup (2, \infty) \\ \frac{B_1^3}{2B_1^2 - 4B_2} & \text{for } \frac{B_2}{B_1^2} \in (-1, \frac{1}{2}) \cup (\frac{1}{2}, 3) \end{cases}.$$

5. Coefficient bounds for the function class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$

We begin this section by introducing the function class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$ as follows.

DEFINITION 4. A function $f(z)$, given by (1.5), is said to be in the class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$ if the following conditions are satisfied:

$$f \in \Sigma_m, \quad (1 - \lambda) \frac{f(z)}{z} + \lambda f'(z) \prec \varphi(z)$$

and

$$(1 - \lambda) \frac{g(w)}{w} + \lambda g'(w) \prec \varphi(w),$$

where the function $g(w)$ is defined by (1.6).

For various special choices of the function $\varphi(z)$, and in the case when $m = 1$, the above-defined function class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$ reduces to the following function classes.

1. For $m = 1$, the function class given by

$$\mathcal{B}_{\Sigma,m}(\lambda, \varphi) \equiv \mathcal{B}_{\Sigma,1}(\lambda, \varphi)$$

was studied by Ali *et al.* [1].

2. For $m = 1$ and

$$\varphi(z) = \left(\frac{1+z}{1-z} \right)^\gamma \quad (0 \leq \gamma < 1),$$

the function class given by

$$\mathcal{B}_{\Sigma,m}(\lambda, \varphi) \equiv \mathcal{B}_{\Sigma,1} \left(\lambda, \left(\frac{1+z}{1-z} \right)^\gamma \right)$$

was studied by Srivastava *et al.* [14].

3. For $m = 1$ and

$$\varphi(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} \quad (0 \leq \gamma < 1),$$

the function class given by

$$\mathcal{B}_{\Sigma,m}(\lambda, \varphi) \equiv \mathcal{B}_{\Sigma,1} \left(\lambda, \frac{1 + (1 - 2\gamma)z}{1 - z} \right)$$

was studied by Srivastava *et al.* [14].

We first state and prove the following theorem.

THEOREM 7. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$. Then*

$$|a_{m+1}| \leq \frac{\mathcal{B}_1 \sqrt{2\mathcal{B}_1}}{\sqrt{|(m+1)(1+2\lambda m)B_1^2 - 2(1+\lambda m)^2 B_2| + 2(\lambda m + 1)^2 B_1}} \quad (5.1)$$

and

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{1+2\lambda m} & \left(B_1 \leq \frac{2(1+\lambda m)^2}{(m+1)(1+2\lambda m)} \right) \\ \frac{|(m+1)(1+2\lambda m)B_1^2 - 2(1+\lambda m)^2 B_2| B_1 + (m+1)(1+2\lambda m)B_1^3}{(1+2\lambda m)(|(m+1)(1+2\lambda m)B_1^2 - 2(1+\lambda m)^2 B_2| + 2(\lambda m + 1)^2 B_1)} & \left(B_1 > \frac{2(1+\lambda m)^2}{(m+1)(1+2\lambda m)} \right). \end{cases} \quad (5.2)$$

Proof. Let $f \in \mathcal{B}_{\Sigma,m}(\lambda, \varphi)$ and $g(w) = f^{-1}(w)$. Then there are analytic functions $u : \mathbb{U} \rightarrow \mathbb{U}$ and $v : \mathbb{U} \rightarrow \mathbb{U}$, with

$$u(0) = v(0) = 0,$$

satisfying the following conditions:

$$(1 - \lambda) \frac{f(z)}{z} + \lambda f'(z) = \varphi(u(z)) \quad (5.3)$$

and

$$(1 - \lambda) \frac{g(w)}{w} + \lambda g'(w) = \varphi(v(w)). \quad (5.4)$$

Since

$$(1 - \lambda) \frac{f(z)}{z} + \lambda f'(z) = 1 + (\lambda m + 1) a_{m+1} z^m + (2\lambda m + 1) a_{2m+1} z^{2m} + \dots$$

and

$$\begin{aligned} (1-\lambda)\frac{g(w)}{w} + \lambda g'(w) \\ = 1 - (\lambda m + 1)a_{m+1}w^m + (2\lambda m + 1)[(m+1)a_{m+1}^2 - a_{2m+1}]w^{2m} + \dots, \end{aligned}$$

it follows from (1.12), (1.13), (5.3) and (5.4) that

$$(\lambda m + 1)a_{m+1} = B_1 b_m, \quad (5.5)$$

$$(2\lambda m + 1)a_{2m+1} = B_1 b_{2m} + B_2 b_m^2, \quad (5.6)$$

$$-(\lambda m + 1)a_{m+1} = B_1 c_m \quad (5.7)$$

and

$$(2\lambda m + 1)[(m+1)a_{m+1}^2 - a_{2m+1}] = B_1 c_{2m} + B_2 c_m^2. \quad (5.8)$$

From (5.5) and (5.7), we obtain

$$c_m = -b_m. \quad (5.9)$$

By adding (5.6) and (5.8), we get

$$\left((m+1)(2\lambda m + 1)B_1^2 - 2(1 + \lambda m)^2 B_2 \right) a_{m+1}^2 = B_1^3 (b_{2m} + c_{2m}). \quad (5.10)$$

Also, the equations (5.9) and (5.10), together with (1.11), imply that

$$\left| \left((m+1)(2\lambda m + 1)B_1^2 - 2(1 + \lambda m)^2 B_2 \right) a_{m+1}^2 \right| \leq B_1^3 (1 - |b_m|^2). \quad (5.11)$$

Now, from the equations (5.5) and (5.11), we deduce that

$$|a_{m+1}| \leq \frac{B_1 \sqrt{2B_1}}{\sqrt{\left| (m+1)(1 + 2\lambda m)B_1^2 - 2(1 + \lambda m)^2 B_2 \right| + 2(\lambda m + 1)^2 B_1}},$$

as asserted in (5.1).

Next, upon subtracting (5.8) from (5.6), we get

$$2(2\lambda m + 1)a_{2m+1} = (2\lambda m + 1)(m+1)a_{m+1}^2 + B_1 (b_{2m} - c_{2m}). \quad (5.12)$$

Using the equations (1.11) and (5.9) in (5.12), it follows that

$$2(2\lambda m + 1)|a_{2m+1}| \leq (m+1)(2\lambda m + 1)|a_{m+1}|^2 + B_1 (|b_{2m}| + |c_{2m}|),$$

which, in view of (5.5), implies that

$$\begin{aligned} 2(2\lambda m + 1)B_1|a_{2m+1}| \\ \leq \left((m+1)(2\lambda m + 1)B_1 - 2(\lambda m + 1)^2 \right) |a_{m+1}|^2 + 2B_1^2. \end{aligned} \quad (5.13)$$

Finally, by applying the equation (5.1) in (5.13), we arrive at the assertion (5.2) of Theorem 7. This obviously completes the proof of Theorem 7. \square

REMARK 10. For the case of one-fold symmetric functions, Theorem 7 reduces to the corresponding results of Peng *et al.* [19], which we recall here as Corollary 26 below.

COROLLARY 26. (see [19]) *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_2| \leq \frac{B_1 \sqrt{B_1}}{\sqrt{(\lambda + 1)^2 B_1 + |(2\lambda + 1) B_1^2 - (\lambda + 1)^2 B_2|}} \tag{5.14}$$

and

$$|a_3| \leq \begin{cases} \frac{B_1}{1+2\lambda} & \left(B_1 \leq \frac{(1+\lambda)^2}{1+2\lambda} \right) \\ \frac{|(1+2\lambda)B_1^2 - (1+\lambda)^2 B_2| B_1 + (1+2\lambda)B_1^3}{(1+2\lambda)(|(1+2\lambda)B_1^2 - (1+\lambda)^2 B_2| + (\lambda+1)^2 B_1)} & \left(B_1 > \frac{(1+\lambda)^2}{1+2\lambda} \right). \end{cases} \tag{5.15}$$

For the case of one-fold symmetric functions and for the class of strongly starlike functions, the function φ is given by

$$\varphi(z) = \left(\frac{1+z}{1-z} \right)^\gamma = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \leq 1), \tag{5.16}$$

which gives

$$B_1 = 2\gamma \quad \text{and} \quad B_2 = 2\gamma^2.$$

Hence Theorem 7 gives us the following corollary.

COROLLARY 27. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(\lambda, (\frac{1+z}{1-z})^\gamma)$. Then*

$$|a_2| \leq \frac{2\gamma}{\sqrt{(\lambda + 1)^2 + |1 + 2\lambda - \lambda^2|\gamma}} \tag{5.17}$$

and

$$|a_3| \leq \begin{cases} \frac{2\gamma}{1+2\lambda} & \left(0 < \gamma \leq \frac{(1+\lambda)^2}{2(1+2\lambda)} \right) \\ \frac{2\gamma^2 |1+2\lambda - \lambda^2| + 4(1+2\lambda)\gamma^2}{(1+2\lambda)(|1+2\lambda - \lambda^2|\gamma + (\lambda+1)^2)} & \left(\frac{(1+\lambda)^2}{2(1+2\lambda)} < \gamma \leq 1 \right). \end{cases} \tag{5.18}$$

REMARK 11. The estimates for $|a_2|$ and $|a_3|$ given by Corollary 27 are more accurate than those given by Theorem 2.2 in Frasin and Aouf [6].

For the case of one-fold symmetric functions and for the class of starlike functions of order γ , the function φ is given by

$$\varphi(z) = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^2 + \dots,$$

so that

$$B_1 = B_2 = 2(1 - \gamma).$$

Clearly, therefore, Theorem 7 yields the following corollary.

COROLLARY 28. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1} \left(\lambda, \frac{1+(1-2\gamma)z}{1-z} \right)$. Then*

$$|a_2| \leq \frac{2(1 - \gamma)}{\sqrt{(\lambda + 1)^2 + |2(1 + 2\lambda)(1 - \gamma) - (\lambda + 1)^2|}} \tag{5.19}$$

and

$$|a_3| \leq \begin{cases} \frac{2(1-\gamma)}{1+2\lambda} & \left(\frac{1+2\lambda-\lambda^2}{2(1+2\lambda)} \leq \gamma < 1 \right) \\ \frac{4(1+2\lambda)(1-\gamma)-(\lambda+1)^2}{(1+2\lambda)^2} & \left(0 \leq \gamma < \frac{1+2\lambda-\lambda^2}{2(1+2\lambda)} \right). \end{cases} \tag{5.20}$$

REMARK 12. The estimates for $|a_2|$ and $|a_3|$ given by Corollary 28 are more accurate than those given by Theorem 3.2 in Frasin and Aouf [6].

THEOREM 8. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$. Then*

$$|a_{2m+1} - \delta a_{m+1}^2| \leq \begin{cases} \frac{B_1}{(2\lambda m + 1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2\lambda m + 1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{2(2\lambda m + 1)} \end{cases}, \tag{5.21}$$

where

$$h(\delta) = \frac{B_1^2(m + 1 - 2\delta)}{2 \left[(m + 1)(2\lambda m + 1)B_1^2 - 2(\lambda m + 1)^2B_2 \right]}.$$

Proof. Adding the equations (5.6) and (5.8) we get

$$a_{m+1}^2 = \frac{B_1^3(b_{2m} + c_{2m})}{(m + 1)(2\lambda m + 1)B_1^2 - 2(\lambda m + 1)^2B_2}. \tag{5.22}$$

Subtract (5.8) from the (5.6), we get

$$a_{2m+1} = \frac{(m + 1)}{2} a_{m+1}^2 + \frac{B_1(b_{2m} - c_{2m})}{2(2\lambda m + 1)}. \tag{5.23}$$

From the equations (5.22) and (5.23), it follows that

$$a_{2m+1} - \delta a_{m+1}^2 = B_1 \left[\left(h(\delta) + \frac{1}{2(2\lambda m + 1)} \right) b_{2m} + \left(h(\delta) - \frac{1}{2(2\lambda m + 1)} \right) c_{2m} \right],$$

where

$$h(\delta) = \frac{B_1^2 (m + 1 - 2\delta)}{2 \left[(m + 1)(2\lambda m + 1) B_1^2 - 2(\lambda m + 1)^2 B_2 \right]}.$$

Since all B_i are real and $B_1 > 0$, which implies the assertion (5.21). This completes the proof of Theorem 8. \square

For the case of one-fold symmetric functions, Theorem 8 reduces to the following corollary.

COROLLARY 29. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - \delta a_2^2| \leq \begin{cases} \frac{B_1}{(2\lambda + 1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2\lambda + 1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{2(2\lambda + 1)} \end{cases}.$$

Taking $\delta = 1$ and $\delta = 0$ in Theorem 8, we have the following corollaries.

COROLLARY 30. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$. Then*

$$|a_{2m+1} - a_{m+1}^2| \leq \begin{cases} \frac{B_1}{(2\lambda m + 1)} & \text{for } 0 \leq |h(\delta)| < \frac{1}{2(2\lambda m + 1)} \\ 2B_1 |h(\delta)| & \text{for } |h(\delta)| \geq \frac{1}{2(2\lambda m + 1)} \end{cases}.$$

For the case of one-fold symmetric functions, Corollary 30 reduces to the following corollary.

COROLLARY 31. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(\lambda, \varphi)$. Then*

$$|a_3 - a_2^2| \leq \frac{B_1}{(2\lambda + 1)}.$$

COROLLARY 32. *Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,m}(\lambda, \varphi)$.*

Then

$$|a_{2m+1}| \leq \begin{cases} \frac{B_1}{(2\lambda m+1)} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup \left(\frac{(2\lambda m+1)(m+1)}{(\lambda m+1)^2}, \infty \right) \\ \frac{(m+1)B_1^3}{(m+1)(2\lambda m+1)B_1^2 - 2(\lambda m+1)^2 B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(\frac{(2\lambda m+1)(m+1)}{2(\lambda m+1)^2}, \frac{(2\lambda m+1)(m+1)}{(\lambda m+1)^2} \right) \cup \left(\frac{(2\lambda m+1)(m+1)}{2(\lambda m+1)^2}, 0 \right) \end{cases}$$

For the case of one-fold symmetric functions, Corollary 32 reduces to the following corollary.

COROLLARY 33. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(\lambda, \varphi)$.

Then

$$|a_3| \leq \begin{cases} \frac{B_1}{(2\lambda+1)} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup \left(\frac{2(2\lambda+1)}{(1+\lambda)^2}, \infty \right) \\ \frac{B_1^3}{(2\lambda+1)B_1^2 - (1+\lambda)^2 B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(\frac{(2\lambda+1)}{(1+\lambda)^2}, \frac{2(2\lambda+1)}{(1+\lambda)^2} \right) \cup \left(0, \frac{(2\lambda+1)}{(1+\lambda)^2} \right) \end{cases}$$

For the case of one-fold symmetric functions and $\lambda = 0$, Corollary 33 reduces to the following corollary.

COROLLARY 34. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(0, \varphi)$.

Then

$$|a_3| \leq \begin{cases} B_1 & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup (2, \infty) \\ \frac{B_1^3}{B_1^2 - B_2} & \text{for } \frac{B_2}{B_1^2} \in (0, 1) \cup (1, 2) \end{cases}$$

For the case of one-fold symmetric functions and $\lambda = 1$, Corollary 33 reduces to the following corollary.

COROLLARY 35. Let the function $f(z)$, given by (1.5), be in the class $\mathcal{B}_{\Sigma,1}(1, \varphi)$.

Then

$$|a_3| \leq \begin{cases} \frac{B_1}{3} & \text{for } \frac{B_2}{B_1^2} \in (-\infty, 0) \cup \left(\frac{3}{2}, \infty \right) \\ \frac{B_1^3}{3B_1^2 - 4B_2} & \text{for } \frac{B_2}{B_1^2} \in \left(0, \frac{3}{4} \right) \cup \left(\frac{3}{4}, \frac{3}{2} \right) \end{cases}$$

6. Concluding remarks and observations

In our present investigation, we have introduced and studied the coefficient problems associated with each of the following four new subclasses:

$$\mathcal{H}_{\Sigma,m}(\varphi), \quad \mathcal{N}_{\Sigma,m}(\lambda, \varphi), \quad \mathcal{M}_{\Sigma,m}(\lambda, \varphi) \quad \text{and} \quad \mathcal{B}_{\Sigma,m}(\lambda, \varphi)$$

of the class of m -fold symmetric bi-univalent functions in the open unit disk \mathbb{U} . These m -fold symmetric bi-univalent function classes are given by Definitions 1 to 4, respectively. For functions in each of these four m -fold symmetric bi-univalent function classes, we have derived the estimates of the Taylor-Maclaurin coefficients $|a_{m+1}|$ and $|a_{2m+1}|$ and Fekete-Szegő functional problems for functions belonging to these new subclasses. The results presented in this paper have been shown to considerably improve the earlier results of Ali *et al.* [1], Frasin and Aouf [6], and Srivastava *et al.* [14] in terms of the bounds as well as the ranges of the parameter under consideration. Our results also further generalize the results of Peng *et al.* [19].

Competing interests. The authors declare that they have no competing interests.

Authors contributions. All authors contributed equally to the writing of this paper. All authors read and approved the final manuscript.

Acknowledgements. The first-named author was partly supported by the Natural Science Foundation of the People's Republic of China under Grants 11561001 and 11271045, the Higher School Doctoral Foundation of the People's Republic of China under Grant 20100003110004, the Natural Science Foundation of Inner Mongolia of the People's Republic of China under Grants 2010MS0117 and 2014MS0101 and the Higher School Foundation of Inner Mongolia of the People's Republic of China under Grants NJZY240 and NJZY13298. The work of the third-named author was partially supported by a grant from the Department of Science and Technology of the Government of India (vide ref: SR/FTP/MS-022/2012) under its Young Faculty Fast Track Scheme.

REFERENCES

- [1] R. M. ALI, S. K. LEE, V. RAVICHANDRAN AND S. SUBRAMANIAN, *Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions*, Appl. Math. Lett. **25** (2012), 344–351.
- [2] M. K. AOUF, J. SOKÓL AND J. DZIOK, *On a subclass of strongly starlike functions*, Appl. Math. Lett. **24** (2011), 27–32.
- [3] D. A. BRANNAN AND J. G. CLUNIE (Editors), *Aspects of Contemporary Complex Analysis*, Proceedings of the NATO Advanced Study Institute (University of Durham, Durham; July 1–20, 1979), Academic Press, New York and London, 1980.
- [4] D. A. BRANNAN AND T. S. TAHA, *On some classes of bi-univalent functions*, in *Mathematical Analysis and Its Applications* (S. M. Mazhar, A. Hamoui and N. S. Faour, Editors) (Kuwait; February 18–21, 1985), KFAAS Proceedings Series, Vol. **3**, Pergamon Press (Elsevier Science Limited), Oxford, 1988, pp. 53–60; see also *Studia Univ. Babeş-Bolyai Math.* **31** (2) (1986), 70–77.
- [5] P. L. DUREN, *Univalent Functions*, Grundlehren der Mathematischen Wissenschaften, Band **259**, Springer-Verlag, New York, Berlin, Heidelberg and Tokyo, 1983.
- [6] B. A. FRASIN AND M. K. AOUF, *New subclasses of bi-univalent functions*, Appl. Math. Lett. **24** (2011), 1569–1573.
- [7] M. LEWIN, *On a coefficient problem for bi-univalent functions*, Proc. Amer. Math. Soc. **18** (1967), 63–68.
- [8] W. C. MA AND D. MINDA, *A unified treatment of some special classes of univalent functions*, in *Proceedings of the Conference on Complex Analysis* (Tianjin; June 19–23, 1992) (Zhong Li, Fuyao Ren, Lo Yang and Shunyan Zhang, Editors), Conference Proceedings and Lecture Notes in Analysis, Vol. **I**, International Press, Cambridge, Massachusetts, 1994, pp. 157–169.

- [9] CH. POMMERENKE, *On the coefficients of close-to-convex functions*, Michigan. Math. J. **9** (1962), 259–269.
- [10] J. SOKÓL, *On a condition for α -starlikeness*, J. Math. Anal. Appl. **352** (2009), 696–701.
- [11] J. SOKÓL, *A certain class of starlike functions*, Comput. Math. Appl. **62** (2011), 611–619.
- [12] H. M. SRIVASTAVA AND D. BANSAL, *Coefficient estimates for a subclass of analytic and bi-univalent functions*, J. Egyptian Math. Soc. **23** (2015), 242–246.
- [13] H. M. SRIVASTAVA, S. BULUT, M. ÇAGLAR AND N. YAĞMUR, *Coefficient estimates for a general subclass of analytic and bi-univalent functions*, Filomat **27** (2013), 831–842.
- [14] H. M. SRIVASTAVA, A. K. MISHRA AND P. GOCHHAYAT, *Certain subclasses of analytic and bi-univalent functions*, Appl. Math. Lett. **23** (2010), 1188–1192.
- [15] H. M. SRIVASTAVA, N. TUNESKI AND E. GEORGIEVA-CELAJKOSKA, *Some distortion and other properties associated with a family of n -fold symmetric Koebe type functions*, Austral. J. Math. Anal. Appl. **9** (2) (2012), Article 1, 1–17.
- [16] Q.-H. XU, Y.-C. GUI AND H. M. SRIVASTAVA, *Coefficient estimates for a certain subclass of analytic and bi-univalent functions*, Appl. Math. Lett. **25** (2012), 990–994.
- [17] Q.-H. XU, H. M. SRIVASTAVA AND Z. LI, *A certain subclass of analytic and close-to-convex functions*, Appl. Math. Lett. **24** (2011), 396–401.
- [18] Q.-H. XU, H.-G. XIAO AND H. M. SRIVASTAVA, *A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems*, Appl. Math. Comput. **218** (2012), 11461–11465.
- [19] Z.-G. PENG AND Q.-Q. HAN, *On the coefficients of several classes of bi-univalent functions*, Acta. Math. Sci. Ser. B Engl. Ed. **34** (2014), 228–240.
- [20] H. TANG, G.-T. DENG AND S.-H. LI, *Coefficient estimates for new subclasses of Ma-Minda bi-univalent functions*, J. Inequal. Appl. **2013** (2013), Article ID 317, 1–10.

(Received August 2, 2015)

Huo Tang

School of Mathematics and Statistics, Chifeng University
Chifeng 024000, Inner Mongolia, People's Republic of China
e-mail: thth2009@163.com

H. M. Srivastava

Department of Mathematics and Statistics, University of Victoria
Victoria, British Columbia V8W 3R4, Canada
and

Department of Medical Research
China Medical University Hospital, China Medical University
Taichung 40402, Taiwan, Republic of China
e-mail: harimsri@math.uvic.ca

S. Sivasubramanian

Department of Mathematics, University College of Engineering Tindivanam
Anna University (Chennai)
Tindivanam 604001, Tamil Nadu, India
e-mail: sivasaisastha@rediffmail.com

P. Gurusamy

Department of Mathematics, Velammal Engineering College
Surapet, Chennai 600066, Tamil Nadu, India
e-mail: gurusamy65@gmail.com